Unit 5 Review - Reasoning with Geometry NAME
Goometric Proporties
1. Find m<EGA. 2, Solve for x,

B !/
(Do +00Y / . \
/- > e

3. Solve for x,

- /G > 11 (3x + 42)°
. (4807 /1 b - (5x — 22)°

u4

LEGA = |20°

Triangle Centers
4. G s a circumcenter,
AE=10, AC=40, FG=17,

5. Cis anincenter.

and BG =18 IM=9,and CL=3
4 10O 2
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Find: Find:
AD:J—_O ‘ m<CML = z,éo
Fe=_{b-5% mZMNP = 14°
EB =_L(D_ m«NPC = 25
AG=_|F ic=_3%
EG= H‘]'} Mc:ﬂ.ﬂq

£LNK=37", £JML=50°,
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X XK=l

6. G is a centroid.
AG=20, BC=13,and BD =42
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Find:
GF=_|O
AF =
BF =09

Scanned by CamScanner



Propertles arallelograms
7. Find mzA 8. Solve for x.
A _B D ¢
/(2x+15)- X 5r—o2r
D C
(20 +336)°
= i ; i
LA=125 y 1;
X=19
9. Find the length of AD. 10. Solve for x.
BD=8x+4 and BE =122
b A B
3y —8 b
A b D c

@ AD -1 X=5
Properties of Rectangles, Rhombuses, and Squares

11. Solve for x. KMNJ is a rectangle, 12. ABCD is a rhombus.
KN =3x+14 and JM =138 Find m<CBD.
D
J K
Q
N M . 8 (3
-— (4]
X=3 £CBD =40
13. ABCD is a rhombus. 14, MYSR is a square. |
AB =14 and «/ABE=132°. ME =10 and £ZRYS=3x+24 \
1
Find: Find:
L A 14 B .~ 22 M y ;

T Al — N

£CBD = 0 Ms = 20 ‘1{5 ﬁ.\ E

£CED = MR = 14 ./ﬂ v f
[4) o i

£CAD = __&0._5 LYES = 9 0) ]

£ADC = IQ H [»] C
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15. Find m«R. QTSR is a trapezoid.

17.  Find the length of AD.
A x+3 D

16. Solve for x. Figure is a trapezoid.
X+3

——

15

4x + 7

18. Find the m<1 and the m«2,

L\=L7 < nz°

19. Given that AB = 12 and CD = 20, find the perimeter of the kite.
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00 th Parallelo S

20. Given: ABCD is a parallelogram

Prove: ADEA = aBEC

21. Given: ABCD is a parallelogram, AR = CS5
Prove: £ADR = +£CBS

D c
At R B
E
A B , 7.
D 5
Statement: Reason: Statement: Reason:
A e ABCD paraii .
1. ABLD Po'("d | Given 1. yio CI,:’_S 1. Given
— = Opp. sides = — = A
2. DA = CB 2.0¢¢- 2. AD=CB 2.0f9f‘ Sides =
3. .DAC = £BCA 3. Alk mlr.a-ﬂﬁle S| 1| 3. .DAB = .BCD 3. 019(. ﬁ-ruaus =
4. LDEA 2=LREC| 4. Vertical angles 4. AARD = ACSB 4 s5AS
5. aADEA = ABEC 5. AAS 5. 2ADR = +CBS 5. C_PCTC
22. Given: ABCD is a parallelogram 23. Given: ABCD is a rectangle
Prove: 2zDAC = ¢BCA Prove: AADE = ABCE
72\5“”\7/ B ’ g ’
o—H A T E
D 4 C
Statement. Reason:
1. ABCDis a 1. Given Statement: Reason
parallelogram
1.ABCD recte ™% Given
2. 4D = BC 2.0p@ 51cke s o N
—_— 2. AD=8 2.0pp. 5103 =
— F
AR = C 3. Opposite sides of
parallelogram are 3. 4B || DC 3D£‘F of Fafbj |
congruent.
P —— 4 LDAC 2L BCE | 4. Atemate interior
. AcEAc 4. Reflexive property angles
5. aDAC = aBCA 5. 595 5. /AED = <BEC s.Verhead @n%l
6. .DAC = +BCA s. CPCTC 6. AADE = ABCE 6. AFTS
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